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Answers for 4.4

For use with pages 243-248

4.4 Skill Practice
1. included_

2. SAS requires two sides and the
included angle of one triangle to
be congruent to the corresponding
two sides and the included angle
of a second triangle. SSS requires
that three sides of one triangle be
congruent to the corresponding
sides of a second triangle.

3. LXYW 4. LWZY S. LZWY
6. LWXY 7. ZXYZ 8. ZXWZ

9. not enough 10. enough

11. not enough  12. not enough

13. enough 14. not enough

15. B

16. ABAD, A DCB. Sample answer:
£ A = ZC because they are

both right angles, AB = CD and
AD = CB because the sides of a

square are congruent, therefore
ABAD = A DCB by SAS.

17. ASTU, ARVU; ST = TU =
UV=VRand LT= oV
because it is a regular pentagon,
therefore ASTU = ARVU
by SAS.

18. AKMN, AKLN. Sample answer:
MK = MN = LN = LK since
they are all radii of the same size
circle. It is given that MK | MN

and LK L LN. ZKMN and £ KLN
are right angles and since all

right angles are congruent,
ZKMN = ZKLN. Therefore
AKMN = AKLN by SAS.

19. HL;
A B C E F G

i —a—i
\*\F/\d \S\B\s:'
F B
20. not enough information

21. SAS 22. HL

23. Yes; they are congruent by the
SAS Congruence Postulate.

24. YX and YW should have the same
length since it can be shown that
AXZY = AWZY:
4x + 6 = 5x — 1,
-x=<T7,x=1.

25. AC=DF 26.BA=FED
27. BC=EF -

28. Yes; they are congruent by SAS.

Geometry
Answer Transparencies for Checking Homework

A11



Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

Answers for 4.4 conined
For use with pages 243-248

29. Because RM L PQ, ZRMQ and

/ RMP are right angles and thus
are congruent. OM = MP and
MR = MR. ARMP = ARMQ
by SAS.

30. Since £ DAC = £ FAB the

triangles are congruent by SAS.

4.4 Problem Solving

31.
33.

34.

35.

36.

SAS 32. SAS

Two sides and the included angle
of one sail need to be congruent
to two sides and the included
angle of the second sail; the two
sails need to be right triangles
with congruent hypotenuses

and one pair of congruent legs.

Definition of a right triangle;
Given, LM = NM; HL
Statements (Reasons)

1. ?@bisects / SPT, SP = TP.
(Given)

2. LSPQ = LTPQ (Definition of
angle bisector)

3.PQ = PO (Reflexive Property
of Congruence)

4. ASPQ = ATPQ (SAS)

Statements (Reasons)

|\ TX=X7 XW=7YZ XW|YZ
(Given)

37.

38.

2. LVXW = LXYZ

(Corresponding Angles

Postulate)

3. AVXW = AXYZ (SAS)
Statements (Reasons)

1.JM =1IM (Given)

2. / KJM and £ KLM are right
angles. (Given in diagram)

3. AJKM and A LKM are right
triangles.
(Definition of right triangle)

4. KM = KM (Reflexive Property
of Congruence)

5. ANJKM = ALKM (HL)
Statements (Reasons)

1. D is the midpoint of AC.
(Given)

2. BD L AC (Given in diagram)
3. / BDA and £ BDC are right

angles. (Definition of

perpendicular lines)

4. ~ BDA = £BDC (Right Angle

Congruence Theorem)

5.D4=DC (Definition of

midpoint)

6. BD = BD (Reflexive Property

of Congruence)

7. AABD = ACBD (SAS)
Geometry
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39.D

40.

41.

Statements (Reasons)

1.CR=Cs,0C LCR,OC LCS

(Given)
2. £S8CQ and £ZRCQ are right
angles. (Definition of

perpendicular lines)

3. £8CQ =£ZRCQ (Right Angle
Congruence Theorem)

4.0C = QC (Reflexive Property
of Congruence)

5. AQCR = AQCS (SAS)

Find the length of each side of the
two triangles and show that pairs
of corresponding sides have the
same length and therefore

are congruent.

Statements (Reasons)
1. AOMP, ANMP (Given)

2. MO = 4V2, MN = 4V2
(Distance formula)
3. MO = MN (Definition of
congruent segments)
4. MP = MP (Reflexive Property
of Congruence)

5. slope ofM_7= 1ol O
slope of NO = 1

(Slope formula)

6. MP L NO (Slopes of
Perpendicular Lines Postulate)

7. ZOMP and £ NMP are right
angles. (Definition of
perpendicular lines)

8. ZOMP = L NMP (Right
Angle Congruence Theorem)

9. AOMP = ANMP (SAS)

Sample answer: Both methods
involve the use of the distance
formula, with the first method
involving calculating the

lengths of all the sides of the two
triangles. The second method also
requires finding the slopes of two
of the sides in order to show they
are perpendicular and that right
triangles are formed.

4.4 Mixed Review
42,

43.

44. y=x — 4
45. y = —3x + 12
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46. x = —4
47. 5 48. 19

4.1-4.4 Mixed Review of
Problem Solving

1. a. A ACE and /A DCF are obtuse
triangles, and A ECB, AFCG,
A ABC, and A DGC are
acute triangles.

b. All triangles are scalene.

2. Sample answer: Using the

distance formula it can be shown
that A POR = ATRS by SSS.

3. 70°%

o

CEERLICICICICICI O
CERELIIIICICLE)

CERIICICICICIN©
CEECICICICICICS) OAY

4. Yes; by the Segment Addition
Postulate, 4B + BC = AC,
FE + FG = EG,

AH + GH = AG, and

DE + CD = CE. Since

CE = AG and EG = AC,

GH = CD, and BC = FG by
the Definition of Congruent
Segments and the Subtraction
Property of Equality. Then

A BCD = A FGH by SAS.

5. a. Statements (Reasons)

1.BG L FH, GF = GH

(Given)
2. ZBGF and £ BGH are right
angles. (Definition of

perpendicular lines)

3. /BGF = /BGH  (Right
Angle Congruence Theorem)

4. BG = BG (Reflexive
Property of Congruence)

5. AFGB= AHGB  (SAS)
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b. yes;

Statements (Reasons)

|. DF = EH,mZEHB =

2%,

m<BFG = 65°, DF 1 AG at

point F
2. AFGB = AHGB

(Given)

(Problem 5a)

3.FB=HB

(Corr. parts of

= A are =.)

4. ZDFG is aright angle.
(Definition of
perpendicular lines)

5.m£LDFG = 90° (Definition
of right angle)

6. m£LDFB + m£BFG =

mZLDFC

(Angle Addition

Postulate)

7.mZLDFB + 65° = 90°

(Substitution Property

of Equality)
8. m«LDFB = 25° (Subtraction
Property of Equality)

9. mZLDFB = mZEHB

(Transitive Property
of Congruence)

10. £DFB = LEHB

(Definition of angle
congruence)

11. ABDF = ABEH

(SAS)

6. 23;

213

O D
QOO
OHONO,
OO IDID
DIOIDD
ONHONOIEY
OHOHONC,
OIS
©®® ®
DO D
DO
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